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(a) Prove that
sin2x—tanx = tanxcos2x,  x =(n+190°, n€Z
@
(b) Given that x =90° and x = 270°, solve, for 0 < x <360
sin2x—tanx =3 tanxsinx
Give your answers in degrees to one decimal place where appropriate.

(Solutions based entirely on graphical or numerical methods are not acceptable.)
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(1) Without using a calculator, find the exact value of

(sin 22.5° + cos 22.5
You must show each stage of your working
®)
(i) (a) Show that cos 26 + sin 6= 1 may be written in the form
ksin? 6 —sin 6= 0, stating the value of k.
@

() Hence solve, for 0 < 6 <360°, the equation

0526 +sin @ =1
“)
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8.

(a) Starting from the formulae for sin(4 + B) and cos (4 + B), prove that

tan(4+B)= oAT@E
I=tan dtan B
(b) Deduce that

) _ 1+V3tme
tan o+l | = =20
3 V3—tan 6

(&) Hence, or otherwise, solve, for 06 <,

1++3 tan 6= (\3 — tan 6) tan (= — 6).

Give your answers as multiples of 7.
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(a) Prove that
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(b) Hence, or otherwise,
() show that tan 15° =23
[©)]

(i) solve, for 0 <x <360°,

cosec 4x—cotdx=1

®)




